Final Edition - Senior Individual Competition – Answers With Some Sketch Solutions

For a complete solution to any problem email Ryan Holm at rholm@microage-tb.on.ca
Multiple Choice

1. C

2. B

3. A

4. C

5. C

6. B

7. C

8. A

9. D

10. B

11. A

12. C

13. B

14. E

15. C

Full Solution

1.  6.
x = 2 and y = 1 gives the minimum.  To see this minimize the x terms and the y terms separately by trial and error.

2.
This set of points will be the straight line connecting A and B.  This set of points can easily be shown to satisfy the given and the triangle inequality eliminates any other possibilities.

3.  2x + y + 3 = 0.
By playing around it can easily be found and verified that a reflection in y = -x is the transformation (x,y) ( (-y, -x).

4.  50. 
This can be tackled by brute force or a quick solution is possible by using the sum of cubes formula cleverly.

5.
There are many ways to solve this problem.  All involve some sort of geometric construction and the use of Pythagorean’s Theorem (or the law of cosines).  The fact that a perpendicular from the center of a circle to any chord bisects the chord can also be useful for this problem.   

